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I. 1 LANGUAGE 

Punkte

1) provider

0,5

2) warmth

0,5

3) to industrialize

0,5

4) to consume

0,5

5) chaotic

0,5

6) numerous

0,5

7) almost

1

8) disappear

1

9) create

1

10) tiny

1

11) excellent

1

12) Hospitals are buildings where people’s diseases or injuries are cured.

2

13) At the moment, millions of tons of coal are being burnt in China every year.

1

14) An expert said, "Americans lead the world in greenhouse gas production, mainly because they have been getting more and more dependent on their cars."

1

15) Fuel-cell cars, which are expected in showrooms by 2004, exhaust only water vapour.

1

16) China could use 50% less energy, if it only installed more efficient technologies.

1

17) Since the oil shock of the seventies, the Western world has been discussing ways of saving energy.

1

18) We needn’t be entirely pessimistic about our future.

1
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Punkte


I. 2 QUESTIONS ON THE TEXT

I
S

1) There will be as much fuel available as we need to get over the current century. We surely won’t run out of carbon-based fuels like oil, coal or gas, which we have burnt during the last two centuries.

1
2

2) Most of this energy is used to heat and light our buildings, to generate electric power for computers or hospital equipment or to run our cars as well as machines in agriculture. If we ran out of those natural resources now, it would lead to a disaster with nearly billions of deaths immediately.

2
4

3) The author wants to highlight the problem of population in comparison with individual consumption. In fact, there are enough resources for the next 300 years if China will consume them in the present rate but most of the Chinese people live in rural areas, where less energy is used by single persons.

However, in the big cities they have huge problems with air-pollution. From the ten most air-polluted cities in the world nine are Chinese ones and almost every third death there is caused by environment-related diseases. If all of China’s Citizens had a consumption in this amount, they would probably drive the world into an environmental catastrophe.

2
4

4) Global warming will destroy our nature. Carbon-based fuels will last longer than our earth’s temperature level will stay balanced.

1
2

5) There are alternative energies. For example we could extend the usage of wind power by installing more wind turbines. Further possibilities can be seen in sun power which should become supported more by governments. Another way is to use nuclear power but it is likely too dangerous and we won’t get the problem of nuclear waste solved in the long term.

However, the most efficient way to reduce the consumption of fossil fuels is to cut consumption of energy itself, especially by stopping the waste of energy for unnecessary things.

2
4
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II. TRANSLATION

Punkte

DIE GENERATION DER VERSCHWENDER



Eine der bemerkenswertesten Statistiken, auf die ich in letzter Zeit gestoßen bin, besagt, dass 5 Prozent der gesamten Energie, die in den Vereinigten Staaten genutzt wird, von Computern verbraucht wird, die die ganze Nacht lang angeschaltet bleiben.



Ich kann dies nicht persönlich bestätigen, aber ich kann Ihnen sagen, dass ich bei zahlreichen Gelegenheiten in vielen amerikanischen Städten spät in der Nacht aus Hotelzimmerfenstern geschaut habe und von der Tatsache beeindruckt war, dass in allen Bürogebäuden der Umgebung noch alle Lichter brannten und die Computerbildschirme flimmerten.



Warum schalten die Amerikaner diese Dinger nicht aus? Ich nehme an, aus demselben Grund, aus dem so viele Menschen hier ihre Automotoren laufen lassen wenn sie in ein Geschäft gehen – weil, kurz gesagt, Strom, Benzin und andere Energiequellen vergleichsweise so billig sind, dass es ihnen nicht in den Sinn kommt, sich anders zu verhalten.

 20
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